P06 station #115 (V2) Figure

U-err std: 0.059 median(U-err) [r/b: down-/up-cast] 0

oce
-20 20
10 | 0.1 10 — 2000 0.2
3 ) +* E
£ 0t |10 c 0 S 0
@ IWW @ 5
07 Hox 10 0 4000 0.2
i
20 | -20 ‘
L—-—-L Liigl
200 -0.63.0200.02.04 200
Super Ensemble # Residual [m/s] Er\1/semb|e #
V-err std: 0.060 median(V-err) [r/b: down-/up-c%st] oce 05
-20 | 20 '
-10 ‘ : 0.1 10 ? ]
“ “ E| 2000
£ O pl [0 g 0 £ 0
@ J‘«A‘sﬁx@“\ @ 3
I “ -
1000 Mos 10 0| 4000
20 | -20
o -0.5
200 -0.68.0200.02.04 200 1000
Super Ensemble #

Residual [m/s] Ensemble #



